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Questions

1.  Because of competition from E-tailer Amazon.com, Barnes & Noble’s profits have fallen and become less stable.  What impact will these changes have on Barnes & Noble’s optimal capital structure and why?

2.  
a.  How would you use ratio analysis to evaluate how effectively Barnes & Noble uses its assets?

b.  What would EVA analysis reveal about how effectively Barnes & Noble uses its assets that ratio analysis does not?

3.  
a.  Southern Utilities has typically paid a large dividend to its stockholders.  However, Southern’s CEO has suggested that stockholders would be better off if Southern were to repurchase shares rather than pay dividends.  On what basis can the CEO make these statements?

b.  What is the best way for Southern to go about repurchasing the shares and why?

4.  
a.  You have are considering purchasing some of the $4.5 billion in junk bonds that Bergen Brunswig has just announced that they intend to issue.  These bonds are classified as junk bonds because rating agencies view the risk of default as high.  Why would you consider buying these highly risky bonds?  Justify your answer.

b.  What actions might the management of Bergen want to undertake that would drive the value of your bonds down and why would management have an incentive to take these actions?  Justify your answer.

c.  What would you look for that would make the firm less likely to undertake these actions?  Justify your answer.

5.  For years, Culprit Inc. has analyzed capital budgeting opportunities using internal rate of return.  Today, the CFO of Culprit has announced that beginning today, all capital budgeting opportunities will be evaluated using net present value analysis.  How would you expect Culprit’s stock price to react to this announcement and why?

6.  Your firm, Final Answer Inc., is considering acquiring Jeopardy Inc.   Once Jeopardy is a part of Final Answer it is expected to generate net cash flows of $25,000 per month beginning three months from today.  Net cash flows from Jeopardy are then expected to grow by 4% per month through 2 years from today.  Growth is then expected to slow to 0.25% per month forever.  The beta of Jeopardy is 1.5 and for Final Answer is 1.8.  The market risk premium is expected to be 7.2% and the effective rate on a T-bill is 4.81%.  What is the most your firm should pay to acquire Jeopardy?

7. Assume you are considering purchasing a put on Amazon with a strike price of $55 which expires in May (16 days from now).  Amazon’s current stock price is $58 per share.  Amazon returns are far riskier than the market as a whole as evidenced by the Amazon’s standard deviation of returns of 68% compared to the market’s standard deviation of returns of 22%.  You estimate that the standard deviation on the put is 145% and on a similar call is 129%.  Given the following returns on Treasury securities, what is the value of this put to you?

Rate on Treasury securities by maturity:  1-day=5.08, 8 day=5.17, 15-day=5.17; 22-day=5.26; 29-day=5.39; 1-year=5.49; 30-year=5.43

8.  You have just invested $250,000 in shares of Merck Inc. and $600,000 in Amazon.com.  What is the expected return and standard deviation on your portfolio?


Return on:

Economy
Probability
Amazon
Merck 
S&P500
T-bills
Boom
.25
43
34
38
5.5

Growth
.60
17
18
19
5.5

Recession
.15
-10
-1
-7
5.5
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Solutions

Note:  On essays, the numbers in brackets equal the number of "checks" for each concept.  These checks are converted to a number score (out of 50) using the scale for each question.

1.  The optimal amount of debt is reduced [6].

=> there are fewer benefits to debt

=> less likely to be able to use the tax shield [4]

=> less of a gain to leverage and thus less of an incentive to have debt [1]

=> less likely to be generating surplus cash for management to waste [4]

=> less need for debt to resolve stockholder-manager conflicts [1]

=> the costs of debt have gone up

=> the probability of bankruptcy has gone up [4]

=> expected bankruptcy costs are higher than before [1]

=> more loss of confidence in the firm [4]

=> possible higher credit costs [2] or loss of supplier credit [2].

Note:  loss of employees and sales is probably not much of an issue

=> possible that there will be more diversion of management resources if face bankruptcy. [2]

Scale:  26-27=50, 24=48, 23=47, 21=46, 20=45, 19=44, 18=43, 14=40, 11=38, 10=37, 9=36, 8=35, 6=34, 4=32, 2=30

2.  a.  Examine activity ratios like

1)  Total asset turnover [4] to examine how effectively managing all of assets [2].

2)  Receivables turnover [4]  or ACP [1] to examine how effectively managing receivables [2].  Potential problem if ACP > 10 days more than credit terms [2]

3)  Inventory Turnover [4] or Days in Inventory to examine how effectively managing inventory [2]

4)  Return on Assets [4] to see amount of profit per $ of assets [2]

Compare to firm over time [6] and to industry averages [6].  

Note:  deviations from industry (high or low) [4] and deviations from those averages [4] can indicate potential problems.

EVA will show whether the firm is earning enough profit for the amount of assets held [6] by subtracting the cost of capital [4] for the project.

Note:  it is a better reflection of cash flows [2]

Scale:  42-43=50, 40-41=49, 38=48, 35-36=47, 33=45, 32=44, 31=43, 30=42, 29=41, 27=40, 26=39, 25=38, 24=37, 23=36, 21=35, 19=34, 15=33, 14=32, 13=31, 8=30
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3.  
a.  less taxes [4] paid by stockholders since only pay taxes on gain [4] rather than entire distribution

b.  Transferable put rights [4]

1.  no wealth redistribution [4] from those who do not sell to those that do.

Note:  redistribution stems from having to repurchase above market value [1]

2.  no oversubscription problem [4]

=> controlled by # of puts issued [1]

3.  Tax gain

=> less total taxes paid by stockholders than tender offer [2]

=> Key => can sell puts tax free [2]

=> high tax investors sell puts [2]

=> low tax investors buy and exercise puts [2]

Scale:  29=50, 28=49, 27=48, 26=47, 25=46, 24=45, 23=44, 20-21=40, 18=39, 16=38, 15=37, 14=36, 13=35, 12=34, 8=32, 7=30

4.  
a.  the bonds likely offer a higher return [6] which will compensate [2] for the risk.

b.  
1)  invest in high variance [4] projects

=> bond prices should fall since the downside from the risk reduces the potential payment [2] and the upside doesn’t help [2] since bondholders have a fixed claim [2]

Incentive:  stockholders win since gain all of the upside [2] but share the downside with bondholders [2].

2)  issue debt with same priority of claim [4] as my bond and use the proceeds to repurchase stock.

=> bond prices fall since the new bonds dilute the claim of the original bondholders [2]

Incentive:  stockholders capture the loss by bondholders [2]

3)  payment of dividends [4]

=> bond prices fall since the value of the firm drops so less likely to be paid [2]

Note:  also pay out least risky asset [2]

Incentive:  stockholders gain since stock price drops less than the dividend [2]

c.  
1)  Covenants [4] which prevent new debt [2] and which limit dividends [2].  Possible covenants to limit risky investments [1].

2)  monitoring [2]

3)  convertible debt [2] helps 1) [2] and possibly 2) [1] and 3) [1] above

Scale:  39=50, 31=48, 28=47, 27=46, 24=45, 22=44, 15-16=42, 14=41, 12-13=40, 10=39, 9=38, 8=37, 4=35, 3=33, 1=30

5.  Stock price should increase [4]

=> in future, more likely to undertake projects that increase the wealth the most [4]

=> NPV will incorporate scale while IRR didn't [4]

=> NPV won't be biased against LT projects like IRR may be [4]

=> with NPV, don't have to watch for situations where must reverse criteria [2]

=> in some cases, want lowest not highest IRR, but always want highest NPV.

=> better decisions when projects differ in risk [4]

=> NPV gives correct signal even if required return changes through time [2]

Scale:  21-22=50, 19=49, 18=48, 16=46, 15=45, 14=44, 13=43, 12=42, 10=41, 9=40, 8=39, 7=38, 6=37, 5=36, 4=35, 3=33, 2=30
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6.  Note:  should draw time line.

r = .0481 + 1.5(.072) = .1561 [+8]
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Growing Annuity
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Growing Perpertuity
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Total = 4,427,927.31 + 715,745.15 = 5,138,672.46 [+2]

7.  
[image: image7.wmf](

)

(

)

46014

.

0

365

16

68

.

365

16

2

68

.

0517

.

55

58

ln

d

2

2

1

=

÷

ø

ö

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

+

+

÷

ø

ö

ç

è

æ

=

[+24]


[image: image8.wmf](

)

31777

.

0

365

16

68

.

46014

.

0

d

2

2

=

÷

ø

ö

ç

è

æ

-

=

[+4]

N(d1) = .67724; N(d2) = .62552 [+1 each]
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=> 182.97 = 1.82969(100) [+1]

8.  
E(rA) = .25(43) + .6(17) + .15(-10) = 19.45 [+14]
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E(rM) = .25(34) + .6(18) + .15(-1) = 19.15 [+8]
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